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QUESTION 1

A user with a CX4-480 tries to clone a Fibre Channel source LUN. The operation fails. 

What could be the cause of the failure? 

A. No free LUN of the correct size 

B. One CPL is 1024 MB and the other is 2048 MB in size 

C. Insufficient free space in the reserved LUN pool 

D. The fracture log has reached capacity 

Correct Answer: A 

 

QUESTION 2

What is the maximum number of supported paths per LUN when using ALUA with PowerPath? 

A. 16 

B. 8 

C. 32 

D. 64 

Correct Answer: A 

 

QUESTION 3

Which hardware component is used to offload iSCSI and TCP processing from the host CPU? 

A. iSCSI host bus adapter (HBA) 

B. Dual NICs 

C. NIC TCP Off-load Engine (TOE) 

D. NIC 

Correct Answer: A 

 

QUESTION 4

What functionality does single initiator zoning enable? 

A. Controls the HBA discovery/login process 
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B. Maximizes state change notification in the fabric 

C. Allows HBAs to force a state change reset on other HBAs 

D. Isolates host I/O from SCSI control commands 

Correct Answer: A 

 

QUESTION 5

What happens to the source LUN when a LUN migration completes? 

A. The LUN is destroyed. 

B. The LUN is given a new LUN ID. 

C. The LUN is moved to the private LUN folders. 

D. The LUN is removed from its storage group. 

Correct Answer: A 
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